Statistical tables



The Standard Normal Distribution Table
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0,9406
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The t-(Student-)test critical values

df] 0,1 [0,05]0,02 df T 0,1 [0,05]0,02
0,05 [0,025| 0,01 0,05 10,025/ 0,01
1[6,314[12,71|31,82 211,721 (2,0802,518
2(2,920(4,303| 6,965 221,717(2,074 2,508
3] 2,353|3,182| 4,541 231,714 (2,069 | 2,500
42,132|2,776 | 3,747 241,711 (2,064 | 2,492
5(2,015 2,571 3,365 251,708 2,060 | 2,485
61,943 2,447 3,143 26 | 1,706 2,056 | 2,479
711,895 2,365 | 2,998 271,703 2,052 | 2,473
8] 1,860 2,306 | 2,896 281,701 |2,048 | 2,467
9] 1,833]2,262| 2,821 291,699 |2,045 | 2,462
10{ 1,812(2,228| 2,764 301,697 |2,042 2,457
11]1,796|2,201|2,718 401,684 (2,021 | 2,423
12]1,782|2,179| 2,681 501,676 2,009 | 2,403
13]1,771|2,160| 2,650 60| 1,671 (2,000|2,390
14]1,761|2,145| 2,624 701,667 (1,994 |2,381
15(1,753| 2,131 2,602 801,664 (1,990 2,374
16 1,746|2,120| 2,583 90 | 1,662 [ 1,987 (2,369
17(1,740|2,110| 2,567 100 | 1,660 | 1,984 | 2,364
18] 1,734]2,101| 2,552 200 1,653 1,972 2,345
19]1,729|2,093| 2,539 500 | 1,648 1,965 | 2,334
201,725 (2,086 | 2,528 00 | 1,645 (1,960 | 2,326

Degree of Fredom: d f, above the columns we have given the significance
level of the test, the upper value belongs to the two-sided and the lower
value belongs to the one-sided counter-hypothesis.



The critical values of the F-test (the sign. level in one side case 0,025
and the sign. level in two sided case 0,05)

1 [ 23 [ 456789 10]11]12
648, | 800, | 864, | 900, | 922, [ 937, [948, | 957, | 963, 969, | 973, [ 977,
38,5(39,0(39,2|39,2|39,3|39,3|39,4(39,4(39,4|39,4(39,4 39,4
17,4]16,0|15,4|15,1|14,9|14,7|14,6 | 14,5|14,5| 14,4 | 14,4 | 14,3
12,2/10,6(9,98 9,60 | 9,36 9,20|9,07 | 8,98 | 8,90 (8,84 8,79 | 8,75
10,0 |8,43|7,76 7,39 |7,15| 6,98 | 6,85 | 6,76 | 6,68 | 6,62 | 6,57 | 6,52
8,81(7,26|6,60|6,23|5,99|5,82|5,70|5,60 | 5,52 | 5,46 | 5,41 | 5,37
8,07/6,54|5,89|5,52|5,29 | 5,12 |4,99|4,90 | 4,82 | 4,76 | 4,71 | 4,67
7,57|6,06|5,42(5,05| 4,82 4,65 | 4,53 | 4,43 [ 4,36 [4,30 [ 4,24 4,20

9(7,21|5,71|5,08|4,72 | 4,48 4,32 4,20 (4,10 | 4,03 (3,96 | 3,91 | 3,87
10 (6,94 | 5,46 | 4,83 4,47 |4,24|4,07 (3,95 | 3,85 | 3,78 | 3,72 | 3,66 | 3,62
11(6,72|5,26 | 4,63 | 4,28 | 4,04 | 3,88 3,76 | 3,66 | 3,59 | 3,53 | 3,47 3,43
12 6,55|5,10 | 4,47 | 4,12 | 3,89 | 3,73 3,61 | 3,51 | 3,44 | 3,37 3,32 3,28
136,41 |4,97|4,35(4,00|3,77|3,60 (3,48 | 3,39 | 3,31|3,25[3,20 | 3,15
146,30 4,86 | 4,24 3,89 | 3,66 | 3,50 | 3,38 |3,29|3,21|3,15|3,09] 3,05
15 6,20|4,77|4,15 3,80 | 3,58 | 3,41 [3,29 3,20 | 3,12 3,06 | 3,01 | 2,96
16 (6,12 |4,69|4,08 3,73 |3,50| 3,34 (3,22 (3,12 |3,05(2,99 | 2,93 | 2,89
176,04 |4,62|4,01|3,66 | 3,44 |3,28 3,16 3,06 | 2,98 | 2,92 | 2,87 2,82
18| 5,98 4,56 | 3,95|3,61|3,38|3,22(3,10(3,01 (2,93 2,87 2,82 2,77
195,92 |4,51(3,90|3,56 | 3,33 3,17 3,05 2,96 | 2,88 (2,82 |2,76 | 2,72
20 5,87 4,46 [3,86 3,51 [3,29|3,13(3,01|2,91|3,84|2,77| 2,72 | 2,68
215,83 (4,42 (3,82(3,483,25(3,09|2,97|2,87|2,80 2,73 | 2,68 | 2,64
22(5,79(4,38 (3,78 3,44 3,22 (3,05 | 2,93| 2,84 2,76 | 2,70| 2,65 | 2,60
235,75 (4,35 [3,75 (3,41 3,18 3,02 2,90 | 2,81 | 2,73 | 2,67 | 2,62 | 2,57
245,72 (4,32 (3,72 (3,38 3,15|2,99| 2,87 2,78 | 2,70 | 2,64 | 2,59 | 2,54
255,69|4,29(3,69|3,35|3,13(2,97 | 2,85 | 2,75 | 2,68 | 2,61 2,56 | 2,51
26 | 5,66 4,27 3,67 [3,33]3,10|2,94|2,82|2,73| 2,65 | 2,59 | 2,54 | 2,49
275,63 (4,24 (3,65(3,31|3,08(2,92|2,80|2,71|2,63|2,57|2,51 | 2,47
285,61 (4,22 (3,63|3,29|3,06(2,90 | 2,78 (2,69 | 2,61 |2,55|2,49 | 2,45
29 5,59 (4,20 (3,61 3,27 3,04 |2,88|2,76 2,67 |2,59 | 2,53 | 2,48 | 2,43
30 5,57 (4,18 (3,59 |3,25|3,03|2,87|2,75 2,65 | 2,57 | 2,51 | 2,46 | 2,41
32| 5,53|4,15 (3,56 | 3,22|3,00|2,84 | 2,72|2,62 | 2,54 | 2,48 | 2,43 | 2,38
345,50 4,12 (3,53 (3,19 (2,97|2,81|2,69|2,59 | 2,52 | 2,45 | 2,40 | 2,35
36 5,47 (4,09 (3,50 3,17 2,94 | 2,78 | 2,66 | 2,57 | 2,49 | 2,43 | 2,38 | 2,33
38 5,44 (4,07 3,48 3,152,921 2,76 | 2,64 | 2,55 | 2,47 | 2,41 | 2,35 | 2,31
40 (5,42 14,05|3,46|3,13(2,90|2,74 | 2,62 | 2,53 | 2,45 2,39 2,33 [ 2,29
60 5,29 (3,93(3,34(3,01(2,79|2,63|2,51|2,41 2,33 |2,27|2,22|2,17
120 5,15 (3,80 3,23 2,89 2,67 | 2,522,391 2,30 | 2,22 | 2,16 | 2,10 | 2,05
00 [5,02(3,60(3,12(2,79|2,57|2,41|2,29|2,19|2,11|2,05 | 1,99 | 1,94

0~ O U W

At the top of the columns stands the numerator's degree of freedom and the
denominator's degree of freedom stands in the rows.
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930,
39,4
14,3
8,71
6,49
5,33
4,63
4,16
3,83
3,58
3,39
3,24
3,11
3,01
2,92
2,85
2,78
2,73
2,68
2,64
2,60
2,56
2,53
2,50
2,47
2,45
2,43
2,41
2,39
2,37
2,34
2,31
2,29
2,27
2,25
2,13
2,01
1,90

933,
39,4
14,3
8,68
6,45
5,30
4,60
4,13
3,80
3,55
3,36
3,21
3,08
2,98
2,89
2,82
2,75
2,70
2,65
2,60
2,56
2,53
2,50
2,47
2,44
2,42
2,40
2,37
2,35
2,33
2,31
2,28
2,25
2,23
2,21
2,09
1,98
1,86

935,
39,4
14,3
8,66
6,42
5,27
4,57
4,10
3,77
3,52
3,33
3,18
3,05
2,95
2,86
2,79
2,72
2,67
2,62
2,57
2,53
2,50
2,47
2,44
2,41
2,39
2,36
2,34
2,32
2,31
2,28
2,25
2,22
2,20
2,18
2,06
1,94
1,83

987,
39,4
14,2
8,63
6,40
5,24
4,54
4,07
3,74
3,49
3,30
3,15
3,03
2,92
2,83
2,76
2,70
2,64
2,59
2,54
2,51
2,47
2,44
2,41
2,38
2,36
2,34
2,32
2,30
2,28
2,25
2,22
2,19
2,17
2,15
2,03
1,91
1,80

990,
39,4
14,2
8,59
6,36
5,20
4,50
4,03
3,70
3,45
3,26
3,11
2,08
2,88
2,79
2,72
2,65
2,60
2,55
2,50
2,46
2,43
2,39
2,36
2,34
2,31
2,29
2,27
2,25
2,23
2,20
2,17
2,15
2,13
2,11
1,98
1,87
1,75

993,
39,4
14,2
8,56
6,33
5,17
4,47
4,00
3,67
3,42
3,23
3,07
2,95
2,84
2,76
2,68
2,62
2,56
2,51
2,46
2,42
2,39
2,36
2,33
2,30
2,28
2,25
2,23
2,21
2,20
2,16
2,13
2,11
2,09
2,07
1,94
1,82
1,71

997,
39,5
14,1
8,51
6,28
5,12
4,42
3,95
3,61
3,37
3,17
3,02
2,89
2,79
2,70
2,63
2,56
2,50
2,45
2,41
2,37
2,33
2,30
2,27
2,24
2,22
2,19
2,17
2,15
2,14
2,10
2,07
2,05
2,03
2,01
1,88
1,76
1,64

1001
39,5
14,1
8,46
6,23
5,07
4,36
3,89
3,56
3,31
3,12
2,96
2,84
2,73
2,64
2,57
2,50
2,44
2,39
2,35
2,31
2,27
2,24
2,21
2,18
2,16
2,13
2,11
2,09
2,07
2,04
2,01
1,99
1,96
1,94
1,82
1,69
1,57

1006
39,5
14,0
8,41
6,18
5,01
4,31
3,84
3,51
3,26
3,06
2,91
2,78
2,67
2,58
2,51
2,44
2,38
2,33
2,29
2,25
2,21
2,18
2,15
2,12
2,09
2,07
2,05
2,03
2,01
1,98
1,95
1,92
1,90
1,88
1,74
1,61
1,48

1010
39,5
14,0
8,36
6,12
4,96
4,25
3,78
3,45
3,20
3,00
2,85
2,72
2,61
2,52
2,45
2,38
2,32
2,27
2,22
2,18
2,14
2,11
2,08
2,05
2,02
2,00
1,98
1,96
1,94
1,91
1,88
1,85
1,82
1,80
1,67
1,53
1,39

1014
39,5
13,9
8,31
6,07
4,90
4,20
3,73
3,39
3,14
2,94
2,79
2,66
2,55
2,46
2,38
2,32
2,26
2,20
2,16
2,11
2,08
2,04
2,01
1,98
1,95
1,93
1,91
1,89
1,87
1,83
1,80
1,77
1,75
1,72
1,58
1,43
1,27

1018
39,5
13,9
8,26
6,02
4,85
4,14
3,67
3,33
3,08
2,88
2,72
2,60
2,49
2,40
2,32
2,25
2,19
2,13
2,09
2,04
2,00
1,97
1,94
1,91
1,88
1,85
1,83
1,81
1,79
1,75
1,72
1,69
1,66
1,64
1,48
1,31
1,00




The critical values of the y-tests

dfl 0,1 [0,05]0,01 df] 0,1 [0,05]0,01
1]2,71(3,84(6,63 16]23,5(26,3(32,0
20 4,61/5,99]9,21 17]24,8(27,6 33,4
316,25(7,81|11,3 18]26,0(28,9(34,8
4)7,78(9,49/13,3 19]27,2130,1/36,2
519,24/11,1|15,1 20 [28,4|31,4|37,6
6]10,6(12,6|16,8 2129,6/32,7(38,9
7112,0(14,1]18,5 2230,8/33,9(40,3
8|13,4|15,5|20,1 2332,0/35,2|41,6
9|14,7/16,9|21,7 2433,2/36,4(43,0
10{16,0|18,3|23,2 2534,4|37,7|44,3
11]17,3]19,7]24,7 26 35,6/ 38,9 45,6
12]18,5|21,0|26,2 2736,7/40,1|47,0
13]19,8|22,4|27,9 2837,941,3(48,3
14]21,123,7/29,1 29 [39,1]42,6(49,6
15(22,3|25,0/30,6 30 [40,3]43,8(50,9

df is the degree of freedom, above the columns, the significance level
of the test was given.

If df > 30, then we apply normal approximation: (T—df)/:\/df

0,1]0,05{0,01
2,2212,85(4,03




Critical values of the Kolmogorov—Smirnov test at sign. level 0,05

I. The one sample test table. # is the sample size

n 0 1 2 3 4 5 6 7 8 9
00| — 10,975|0,842|0,708 0,624 | 0,563 | 0,519 | 0,483 | 0,454 | 0,430
100,409 0,391 (0,375 0,361 | 0,349 | 0,338 | 0,327 | 0,318 | 0,309 | 0,301
201 0,294 0,287 0,281 0,275 | 0,269 | 0,264 | 0,259 | 0,254 | 0,250 | 0,246
30 0,242 10,2380,234 (0,231 0,227 | 0,224 (0,221 | 0,218 | 0,215 | 0,213
40 0,210 0,208 0,205 0,203 | 0,201 | 0,198 | 0,196 | 0,194 | 0,192 | 0,190
501 0,18810,187|0,185|0,183|0,181|0,180|0,178|0,177| 0,175 | 0,174
60| 0,172|0,171|0,170| 0,168 | 0,167 | 0,166 | 0,164 | 0,163 | 0,162 | 0,161
701 0,160 {0,1590,158| 0,156 | 0,155 | 0,154 | 0,153 | 0,152 | 0,151 | 0,151
801 0,150{0,149|0,148 0,147 {0,146 | 0,145 | 0,144 | 0,144 | 0,143 | 0,142
90| 0,141|0,140 0,140 0,139 0,138 0,137 {0,137{0,136 | 0,135 | 0,135
I1. Two samples test.
n and m = n + ¢ are the sample sizes.
nllil o [ 1 [ 2 [ 3] a[5 [ 6 [ 7]8]9]1w][un
4 1 1 0,833|0,857|0,875|0,777 0,750 | 0,750 | 0,750 | 0,750 | 0,750 | 0,733
5 1 |0,750|0,800|0,875|0,777|0,800| 0,709 | 0,716 | 0,692 | 0,657 | 0,733 | 0,675
6 |0,833|0,714|0,8330,722 0,666 | 0,651 | 0,666 | 0,666 | 0,642 | 0,633 | 0,625 | 0,607
7 10,857]0,750 0,666 | 0,657 | 0,623 | 0,630 | 0,615 | 0,642 | 0,590 | 0,571 | 0,571 0,571
8 [0,750]0,6380,600 | 0,602 | 0,625 | 0,596 | 0,571 | 0,558 | 0,625 | 0,566 | 0,555 | 0,539
9 10,666|0,5880,595 0,777 0,555 |0,555 | 0,555 | 0,541 | 0,535 | 0,555 | 0,520 | 0,516
10 | 0,700 0,545 | 0,550 0,538 | 0,528 | 0,533 0,525 | 0,523 | 0,511 0,494 | 0,550
11 0,636 0,545 | 0,524 | 0,532 | 0,509 | 0,505 | 0,497 | 0,489 | 0,488 | 0,486
12 /0,583(0,519(0,511{0,516 | 0,500 | 0,490 | 0,500 | 0,473 | 0,483
13 |0,5380,585|0,4920,485|0,475|0,470| 0,461 | 0,461
14 |/0,571]0,466 | 0,473 0,466 | 0,460 | 0,454 | 0,450
15 /0,533(0,475]0,454 | 0,455 | 0,445 | 0,450
16 | 0,500 0,445 |0,444|0,437 0,437
17 /0,47010,434 10,436 | 0,429
18 /0,500 0,415 |0,422
19 |0,473 0,421
20 | 0,450






